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December — Examination 2021

M.Com. (Final) Examination
Cost and Management Accounting
Paper : MCOM-08

Time : 1% Hours | [ Maximum Marks : 80

Note .— The question paper is divided into two Sections
A and B. Write answers as per the given
instructions.
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Section—-A 4x4=16
(Very Short Answer Type Questions)

Note .— Answer any four questions. As per the nature of
the question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 4 marks.
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1. (1) What do you mean by ‘Cost’ 7 Name any

Sour techniques of Costing.
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(i1)) What is Labour Turnover ? What are

different methods to calculate it ? Name them.
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(ii1) What is Activity Based Costing ? How does

a traditional costing differ from activity based

costing ?
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(iv) Calculate commercial tonne km. from the

following information :

Route of Distance | Weight Carried

Journey (km) (Tonne)
Jaipur to Ajmer 130 20
Ajmer to Bhilwara 137 16
Bhilwara to Udaipur 200 10
Udaipur to Jaipur 467 Nil
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(v) Explain the difference between ‘Standard
Costing’ and ‘Budgetary Control’ (any four).
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(vi) What do you understand by the ‘Horizontal
Analysis’ and ‘Vertical Analysis’ ?
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(vii) What is Cash Flow Statement ? Name the
types of cash flow.
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(viii) Explain in brief, what factors will affect the
‘Make’ or ‘Buy’ decision of a product ?
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Section-B 4%x16=64

(Short Answer Type Questions)

Note .— Answer any four questions. Each answer should not
exceed 200 words. Each question carries 16 marks.
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2. A factory requires 1,500 units of an item per

month, each costing ¥ 27. The cost per order is
% 150 and the inventory carrying charges work out
of 20% of the average inventory.

Find out EOQ and the number of orders per year.

Would you accept a 2% price discount on a
minimum supply of 1,200 units ?
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. Write explanatory notes on the following :

(@) Normal Wastage

(b) Abnormal Effectives

(c) Joint Product

(d) By-product
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. What do you mean by ‘Flexible Budget’ ? Explain

the objectives of flexible budget and describe the
procedure of construction of flexible budget.
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. What is meant by ‘Variance Analysis’ 7 Explain

the process of calculating material variance with
illustration.
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. What is the importance of Ratio Analysis to
Management ? Explain with illustration any #wo
ratios each for measuring (a) Profitability and
(b) Liquidity.
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. The turnover and total costs during two periods

were as follows :

T srafEt # fosa e w@ @ra FEER 9

s I | st II

®) ()
e 5,00,000 | 7,50,000
FA AT 4,50,000 | 6,50,000

Period I | Period 11

() ()
Sales 5,00,000 | 7,50,000
Total Cost 4,50,000 | 6,50,000

Calculate :

(@) P/V Ratio

(b) Break-even Sales

(¢c) Sales required to earn a profit of ¥ 1,25,000
(d) Profit earned when sales are ¥ 3,50,000
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. “The technique of marginal costing can be valuable

aid to management”. Comment.
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. (@) Explain the process of Zero Base Budgeting.

(b) Write merits and demerits of Halsey premium
plan for wage payment.
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